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CHAPTER-7-EMPLOYMENT: GROWTH, 
INFORMALISATION AND OTHER ISSUES 

ASSERTION- REASON QUESTIONS 
 

 
SI.No. Question 
1 Assertion (A): lesser women are found in regular salaried employment. 

Reason (R): Regular salaried employment do not require skills and high level of literacy. 
A. Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion 
(A). 
B. Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of 
Assertion (A). 
C. Assertion (A) is true but Reason (R) is false. 
D. Assertion (A) is false but Reason (R) is true. 

2 Assertion (A): Madhya Pradesh govt. implemented ‘Jeevan Shakti Yojana ' 
Reason (R): It is implemented to increase the employment opportunities of women 
entrepreneurs in urban areas of the state. A. Assertion (A) and Reason (R) are true and Reason 
(R) is the correct explanation of Assertion (A). 
B. Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of 
Assertion (A). 
C. Assertion (A) is true but Reason (R) is false. 
D. Assertion (A) is false but Reason (R) is true. 

3 Assertion(A): More proportion of male workforce employed in primary sector as compared to 
proportion of female workforce. 
Reason (R): Male workforce get opportunities in both secondary and service sector. 
A. Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion 
(A). 
B. Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of 
Assertion (A). 
C. Assertion (A) is true but Reason (R) is false. 
D. Assertion (A) is false but Reason (R) is true. 

 
4 Read the following statements - Assertion (A) and Reason (R) 

Assertion (A)- Urban unemployment is a spillover of rural unemployment. 
Reason (R) –Owning to the lack of opportunities of employment people in the rural areas are 
compelled to migrate to the urban areas in search of livelihood. 

From the given alternatives choose the correct one: 
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Alternatives: 
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 

explanation of Assertion (A). 
(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct 
explanation of Assertion (A). 
(C) Assertion (A) is true but Reason (R) is false. 
(D) Assertion (A) is false but Reason (R) is true. 
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5  Read the following statements - Assertion (A) and Reason (R) 
Assertion (A) –Economic activity implies only production activity. 
Reason (R) –Economic activity relates to the use of scarce resource. 

From the given alternatives choose the correct one: 

Alternatives: 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 
explanation of Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct 
explanation of Assertion (A). 

(C) Assertion (A) is true but Reason (R) is false. 

(D) Assertion (A) is false but Reason (R) is true. 
6 Read the following statements - Assertion (A) and Reason (R) 

Assertion (A)- There are several examples in the rural areas of India where there are more 
workers in the family but gross income of the family is low. 
Reason (R)- Disguised unemployment lowers efficient productivity. 

From the given alternatives choose the correct one: 
Alternatives: 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 
explanation of Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct 
explanation of Assertion (A). 

(C) Assertion (A) is true but Reason (R) is false. 

(D) Assertion (A) is false but Reason (R) is true. 
7 Read the following statements - Assertion (A) and Reason (R) 

Assertion (A) - Many programmes that the governments implement, aimed at alleviating 
poverty, are through employment generation 

Reason (R) - All these programmes aim at providing not only employment but also services in 
areas such as primary health, primary education, rural drinking water, nutrition, assistance for 
people to buy income and employment generating assets, development of community assets by 
generating wage employment, construction of houses and sanitation, assistance for constructing 
houses, laying of rural roads, development of wastelands/ degraded lands. 

From the given alternatives choose the correct one: 
Alternatives: 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 
explanation of Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct 
explanation of Assertion (A). 

(C) Assertion (A) is true but Reason (R) is false. 

(D) Assertion (A) is false but Reason (R) is true. 



4 | P a g e 8  O c t o b e r  2 0 2 1 , Z I E T  B H U B A N E S W A R  

8 Read the following statement –Assertion (A) and Reason (R) 
Assertion (A)-Worker –population ratio of women workers in rural areas is more the women in 
urban areas. 
Reason (R) –The number of women workers in our country are generally underestimated 
because many activities undertaken by them are not recognised as productive work. 

From the given alternatives choose the correct one: 
Alternatives: 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct 
explanation of Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct 
explanation of Assertion (A). 

(C) Assertion (A) is true but Reason (R) is false. 

(D) Assertion (A) is false but Reason (R) is true. 
9 Assertion (A): Number of women workers in India are generally over estimated. 

Reason (R): Many activities undertaken by women workers are not recognized as productive 
work. 
(A) Both Assertion (A) and Reason (R) are True and Reason (R) is the correct explanation of 
Assertion (A). 
(B) Both Assertion (A) and Reason (R) are True and Reason (R) is not the correct explanation of 
Assertion (A). 
(C) Assertion (A) is True but Reason (R) is False. 
(D) Assertion (A) is False but Reason (R) is True. 

10 (A): More proportion of female workforce is employed in the primary sector as compared to 
proportion of male work force. 
Reason (R): Male work force get opportunities in both secondary and service sectors. 
(A) Both Assertion (A) and Reason (R) are True and Reason (R) is the correct explanation of 
Assertion (A). 
(B) Both Assertion (A) and Reason (R) are True and Reason (R) is not the correct explanation of 
Assertion (A). 
(C) Assertion (A) is True but Reason (R) is False. 
(D) Assertion (A) is False but Reason (R) is True. 

11. Assertion(A):Jobless growth is a serious phenomenon challenging the Indian Economy. 
Reason(R):GDP growth in India is driven largely by technology. 
(A) Both Assertion(A) and Reason(R) are true and Reason(R) is correct explanation of 

Assertion(A). 
(B) Both Assertion(A) and Reason(R) both are true but Reason(R) is not the correct explanation 
of Assertion(A). 
(C) Assertion(A) is true but Reason(R)is false. 
(D) Assertion(A) is false but Reason(R) is true. 
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12. Assertion(A):Labour force and Work force are identical concept. 
Reason(R):Labour force refers to thenumber of workers actually working and willing to work. 
(A) Both Assertion(A) and Reason(R) are true and Reason(R) is correct explanation of 
Assertion(A). 
(B) Both Assertion(A) and Reason(R) both are true but Reason(R) is not the correct explanation 
of Assertion(A). 
(C) Assertion(A) is true but Reason(R)is false. 
(D) Assertion(A) is false but Reason(R) is true 

13. Assertion(A): Percentage of female workeris low in urban areas. 
Reason(R): In urban areas, jobs for women are governed by the family decisions rather than 

individual decision. 
(A) Both Assertion(A) and Reason(R) are true and Reason(R) is correct explanation of 
Assertion(A). 
(B) Both Assertion(A) and Reason(R) both are true but Reason(R) is not the correct explanation 
of Assertion(A). 
(C) Assertion(A) is true but Reason(R) is false. 
(D) Assertion(A) is false but Reason(R) is true. 

14. Assertion(A): Disguised unemployment is found in India. 
Reason(R):Agricultural productivity at the margin is close to zero. 
(A) Both Assertion(A) and Reason(R) are true and Reason(R) is correct explanation of 
Assertion(A). 
(B) Both Assertion(A) and Reason(R) both are true but Reason(R) is not the correct explanation 
of Assertion(A). 
(C) Assertion(A) is true but Reason(R)is false. 
(D) Assertion(A) is false but Reason(R) is true. 

15. Assertion(A):Formal sector workers are entitled to social security benefits. 
Reason(R):Informal sector workers are protected by labour laws. 
(A) Both Assertion(A) and Reason(R) are true and Reason(R) is correct explanation of 
Assertion(A). 
(B) Both Assertion(A) and Reason(R) both are true but Reason(R) is not the correct explanation 
of Assertion(A). 
(C) Assertion(A) is true but Reason(R)is false. 
(D) Assertion(A) is false but Reason(R) is true. 

16 Assertion(A). Jobless growth refers to a situation when the economy is able to produce more 
goods and services without a corresponding increase in the level of employment . India is 
experiencing the phenomenon of jobless growth. 
Reason( R) During the period 1950-2010, GDP of India grew positively and was higher than the 
employment growth. During this period employment grew at the rate of not more than 2%. 
During these years we also find a widening gap between the growth of GDP and employment. 
Alternatives: 
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(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 
Assertion(A). 

(b) Both Assertion (A) and Reason (R) are true and Reason (R)is not the correctexplanation 
of Assertion(A). 

(c) Assertion (A ) is true but Reason (R) is false 
(d) Assertion (A ) is False but Reason (R) is True 

 
17 Assertion (A). As per data available on worker population ratio in India for the year 2017-18, 

For every 100 urban males 53 are engaged in economic activities, whereas this number is 14 for 
every 100 urban females. For every 100 rural males 51 are engaged in economic activities, this 
number is 18 for every 100 rural females. 
Reason (R) Compared to females, more males are found to be working in India. It is common to 
find that where men are able to earn high incomes, families discourage female members from 
taking up jobs. Lack of skills and education also is one of the reasons of less involvement of 
women workers in rural and urban areas. 

 
Alternatives: 

(a) Both Assertion (A) and Reason (R)are true and Reason ( R) is the correct explanation of 
Assertion(A). 

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation 
of Assertion(A). 

(c) Assertion (A ) is true but Reason (R) is false 
(d) Assertion (A ) is False but Reason (R) is True 

18 Assertion (A): Poverty and unemployment are related to each other. 
Reason (R): Unemployment leads to poverty. 

 
Alternatives: 

(a) Both Assertion (A) and Reason (R)are true and Reason ( R) is the correct explanation of 
Assertion(A). 

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation 
of Assertion(A). 

(c) Assertion (A ) is true but Reason (R) is false 
(d) Assertion (A ) is False but Reason (R) is true 

19 Assertion: Labourforceincludes all those who are working and also includes those who want to 
work. 
Reason: With population increase labour force increases. 
(A) Both Assertion and reason are true and reason is correct explanation of assertion. 
(B) Assertion and reason both are true but reason is not the correct explanation of assertion. 
(C) Assertion is true, reason is false. 
(D) Assertion is false, reason is true. 
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20 Assertion: Workforce includes all persons who are working. 
Reason: Unemployed Ram is included in workforce. 
(A) Both Assertion and reason are true and reason is correct explanation of assertion. 
(B) Assertion and reason both are true but reason is not the correct explanation of assertion. 
(C) Assertion is true, reason is false. 
(D) Assertion is false, reason is true. 

21 Assertion: In Indian economy, without generating employment we have been able to produce 
goods and services. This is called” jobless growth”. 
Reason: In Indian economy more than required people are engaged in Primary Sector. But 
Jobs are being created in secondary and tertiary sector. People do not have those skills to get 
those jobs that are being created in secondary and tertiary sector. 
(A) Both Assertion and reason are true and reason is correct explanation of assertion. 
(B) Assertion and reason both are true but reason is not the correct explanation of assertion. 
(C) Assertion is true, reason is false. 
(D) Assertion is false, reason is true. 

22 Assertion: The labour working on contracts do not get the benefits that a 
normal workforce receives in the formal sectors 
Reason: Formal sector is small in India. 
(A) Both Assertion and reason are true and reason is correct explanation of assertion. 
(B) Assertion and reason both are true but reason is not the correct explanation of assertion. 
(C) Assertion is true, reason is false. 
(D) Assertion is false, reason is true. 

23 Assertion: Contractual workers are highly paid in India. 
Reason: Lot of manufacturing sectors employ workers on contractual basis through 
"subcontracts" to work on temporary basis 
(A) Both Assertion and reason are true and reason is correct explanation of assertion. 
(B) Assertion and reason both are true but reason is not the correct explanation of assertion. 
(C) Assertion is true, reason is false. 
(D) Assertion is false, reason is true. 
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ANSWER 
 

Q.No. Answer 

1. C 

2. A 

3. D 

4 A 

5 D 

6 B 

7 A 

8 B 

9 (D) 

10 (A) 

11 A 

12 D 

13 C 

14 A 

15 C 

16 (a)Both Assertion (A) and Reason (R )are true and Reason ( R) is the correct 
explanation of Assertion(A). 

17 (a ) Both Assertion (A) and Reason (R )are true and Reason ( R) is the correct 
explanation of Assertion(A). 

18 (a) 

19 (B)Assertion and reason both are true but reason is not the correct explanation of 
assertion 

20 (C) Assertion is true, reason is false. 

21 (A) Both Assertion and reason are true and reason is correct explanation of 

assertion. 

22 (B)Assertion and reason both are true but reason is not the correct explanation of 
assertion 

23 (D) Assertion is false, reason is true. 
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